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SA g2
BH: RENL
Rl IEIHED|BES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3 200,000 * 122 2,400
OodIIR3 300,000 * 12 3,600
202 04| 4,500 4,500
01 2L AL 4,500 4,500
OMEEAAAR ALEX I
4,500,000 4,500
405 AHAHE S 10,000 10,000
01 AL =S F = 10,000 10,000
OSZASHETME ARSEDY
10,000,000 10,000
SENEAZH ALY (EX) 2,100,000 1,400,000 700,000
[ 1,470,000
o 630,000
201 fer=2 3| 20,000 10,000 10,000
[ 14,000
o 6,000
01 At22t2l] 20,000 10,000 10,000
O8A & X2+E 10,000,000 10,000
= 7,000
= 3,000
O=at eer+=ZH| 10,000,000 10,000
= 7,000
Ea 3,000
301 EetE NS 50,000 0 50,000
[ 35,000
o 15,000
11 ALEIXIES 50,000 0 50,000
OSEASAZHAZHE MH| LA
50,000,000 50,000
s 35,000
= 15,000
401 A& HIX R0 2,030,000 1,190,000 840,000
= 1,421,000
o 609,000
01 AlZ8| 2,026,000 1,190,000 836,000
SEAHSHZ2 ALY
2,026,000,000& 2,026,000
[ 1,418,200
[Ea 607,800
03 Al 20HHI 4,000 0 4,000
OsEXEHEA LAY 4,000,000 4,000
= 2,800
o 1,200
LES A ENE A 217,300 272,987 ~\B5,687
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201 er23 | 9,240 15,240 26,000
01 At2teltl 9,240 16,240 26,000
Osd2 NSgdatladE AR X
770,0008* 122 9,240
207 ARl 22,000 22,000
01 S| 22,000 22,000
OsES2EHIAY gIAH= =8
22,000,000 22,000
307 elztol & 186,060 257,747 AT1,687
05 2IZtAE = 186,060 257,747 AT1,687
Osd2 NSgdatAAHE 23|
186,060,000 186,060
LErSMHEONLAIE HEXA 16,900 16,900 0
202 0o4dl 8,900 8,900
01 =LHNHI 8,900 8,900
sEEda GRFALI
8,900,000& 8,900
203 =] 8,000 8,000
03 A=A 2= 8,000 8,000
ORYEY g2xd HEY)
8,000,000& 8,000
S5 SESHNEES ML 6,605,714 1,694,286 4,911,428
= 4,624,000
Ea 1,981,714
403 MR HHMSAHE01H 6,605,714 1,694,286 4,911,428
[ 4,624,000
o 1,981,714
02 SVI2S0 U H=E P EAIEI 6,605,714 1,694,286 4,911,428
O=Sgs s 243t Ag
6,605,714,000& 6,605,714
= 4,624,000
T 1,981,714
UWEH SESHTNELFAIL(EY) 1,100,000 0 1,100,000
= 770,000
[Ea 330,000
101 @12A4H| 24,000 0 24,000
[ 16,800
o 7,200
04 JIZtN2 2N S 2 24,000 0 24,000
OAIRE 212 24,000,000 24,000
[ 16,800
o 7,200
201 er23 | 6,000 0 6,000
s 4,200
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[Ea 1,800
01 AtR2t2|HI 6,000 0 6,000
SA R AEE 6,000,000 6,000
[ 4,200
s 1,800
301 LELEE S 12,000 0 12,000
= 8,400
= 3,600
11 dALEEIXIZE S 12,000 0 12,000
OSEZAN 243} Al FoLAs| AY|
24 12,000,000 12,000
= 8,400
[Ea 3,600
401 AIEHIZ SR THYI 1,058,000 0 1,058,000
[ 740,600
[Ea 317,400
01 Al&H| 1,031,000 0 1,031,000
OUsH SESHX 243 At
1,031,000,000& 1,031,000
= 721,700
= 309,300
03 AIZSTHYI 27,000 0 27,000
OUSH SESHN FH MY 2T 20
| 27,000,000 27,000
[ 18,900
o 8,100
HAHSESHXSESAIL () 500,000 1,404,286 A904,286
= 350,000
= 150,000
101 @124H| 24,000 0 24,000
= 16,800
[Ea 7,200
04 JIZtNZ22 NS+ 24,000 0 24,000
OAIRE 212 24,000,000 24,000
[ 16,800
o 7,200
201 2= 6,000 0 6,000
= 4,200
T 1,800
01 At22t2lt] 6,000 0 6,000
O8Al & X2+¢ 6.,000,000& 6,000
= 4,200
= 1,800
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301 EtE NS 12,000 0 12,000
= 8,400
= 3,600
11 dALEBIXNIE S 12,000 0 12,000
OSEZATBLIAY FoI9i9s YL
o 12,000,000 12,000
[ 8,400
s 3,600
401 AIEHIZ R 0HYI 458,000 1,404,286 A946,286
= 320,600
= 137,400
01 Al&H| 416,000 1,404,286 088,286
Olat sESaAl 243 Al
416,000,000& 416,000
= 291,200
Ea 124,800
03 AIESTHYI 42,000 0 42,000
Olat sESX 243 AlE =8 20
] 42,000,000 42,000
[ 29,400
Ea 12,600
SEEI| ZUENE TG AY 1,000,000 311,429 688,571
= 700,000
o 300,000
101 @124H| 24,000 0 24,000
= 16,800
o 7,200
04 JIZtN2Z2 XS+ 24,000 0 24,000
OAIRE 212 24,000,000 24,000
[ 16,800
o 7,200
201 el 3,000 0 3,000
s 2,100
= 900
01 At2teltl 3,000 0 3,000
OdAM & X2+E 3,000,000 3,000
= 2,100
Ea 900
301 EetE NS 6,000 0 6,000
[ 4,200
o 1,800
11 AALEIXIES 6,000 0 6.000
O ZHUENEXIEAMY FLUARS AHIE
& 6,000,000 6,000
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= 4,200
s 1,800
401 AlEHIZ 2 0HbI 967,000 311,429 655,571
= 676,900
Ea 290,100
01 Al=2H| 955,000 311,429 643,571
Ooddd JI=dENE 2gAY
955,000,000 955,000
[ 668,500
o 286,500
03 Al 20HHI 12,000 0 12,000
Oage JIZMENT ZYAY W =0
a 12,000,000 12,000
= 8,400
[Ea 3,600
=8 JZUENESHAMNY 401,429 2,142,857 A1,741,428
[ 281,000
s 120,429
403 AXIEHHSAH=201H 401,429 2,142,857 1,741,428
[ 281,000
Ea 120,429
02 SIS0t 2 H A A 401,429 2,142,857 N1,741,428
O JIEZMENE FHAY
401,429,000 401,429
= 281,000
o 120,429
ANzdgdsi(sda) 300,000 260,000 40,000
[ 210,000
s 90,000
307 21201 & 300,000 260,000 40,000
[ 210,000
[Ea 90,000
05 2ItRIE = 300,000 260,000 40,000
OAlZSEgZat 300,000,000& 300,000
s 210,000
= 90,000
ot RAE=s 10,000 10,000
401 A& HIX R0 10,000 10,000
01 A28l 10,000 10,000
O=23t0ts "X 10,000,000 10,000
LESMOENLY AMES 22 109,150 100,912 8,238
201 et 3| 33,150 30,720 2,430
01 At22t2l] 23,550 20,400 3,180
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odit=3=H| 7,000
-L=dotL 2 500,000 * 12 6,000
RS PN 500,00024+23] 1,000
O&l%0t M 50,0002 %107 500
OUBSENIS 2R H2E
50,0003 50
OZGHIOISE sIIEAE SHL AISE
16,000,000 16,000
02 S3=gHl 9,600 10,320 AT20
03323 9,600
-2 600,000 * 122 7,200
-doteERs 100,000& ~12& 1,200
-S8e2s 100,000& * 122 1,200
202 04| 6,000 5,192 808
01 2K 6,000 5,192 808
Os&ENE 22 o 6,000,000& 6,000
401 AIEHIZ R 0HYI 70,000 65,000 5,000
01 Al&HI 70,000 65,000 5,000
OLLH= MO EINLAIY SRIZ2 L 5
70,000,000 70,000
2232 FA2c 100,279 67,740 32,539
101 @124H| 27,679 35,140 AT ,461
04 JIZtNZ22 NS+ 27,679 35,140 AT,461
O 4 23tala FAt2el R (S0) 27,679
-=20 76,9603 x2H 162 24,936
-AlRl2E JI2RYE
24,936,000 *11% 2,743
201 Ler23| 62,100 32,600 29,500
01 At2teltl 27,100 13,200 13,900
Odgt==H| 5,000,000& 5,000
OHIIQtH 2| THH =2
300,000& * 122 3,600
OAtER IS =2
200,000 * 122 2,400
Osd)|l RA2cIU ==
150,000& * 12 1,800
OXedgatdt AEH 72 &9
14,300,000& 14,300
2 35244l 35,000 19,400 15,600
OAlZ &I Xl 5,000,000 5,000
O8&82= £ HA 26,400
-HIes 2,000,000& 12& 24,000
-&ole=ER=s 100,000 ~12& 1,200
mal=b GeFal=d 100,000 »12& 1,200
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SA - ZE - B2(30) - HRAS of v e HIDE2
ORoIZHl & v 300,000& 1204 2 3,600
405 KHaHF S| 10,500 10,500
01 ML ESF SHI 10,500 10,500
O =t ¢ 2,000,000 *2CH 4,000
(OFSE=S=E P IEdel 500,000 1CH 500
025 AAE Kof2! 5|
6,000,000 1CH 6,000
OIS RFSII RSN A (M EALY) 150,000 1,200,000 A1,050,000
401 AIZHIZ S0 150,000 1,050,000 900,000
01 Al&H| 150,000 1,050,000 900,000
OHSH (8tg2e]) S2SIIAY
50,000,000 50,000
ONg=(5332l) E2EIIAY
50,000,000 50,000
O2MDI(01=12]) DHSetSD 1A
50,000,000 50,000
ot (AtE22] ) DS 2 SIIAI (HEALY) 350,000 50,000 300,000
401 A& HIX R0 350,000 50,000 300,000
01 AlZH| 350,000 50,000 300,000
Oerz(Ard2e]) OIS HEIIANY
350,000,000& 360,000
ADHE (ZH22]) 0SS I IS (R EALY) 350,000 50,000 300,000
401 A2 HIRL 01 350,000 50,000 300,000
01 Al&HI 350,000 50,000 300,000
OLDHAE (EH22]) DIE2EIIA
350,000,000 350,000
SO0teH0I(&32] )DIS2HSIIAI (HEALY) 350,000 50,000 300,000
401 Al HIZ S 0HbI 350,000 50,000 300,000
01 Al&H| 350,000 50,000 300,000
OS0teH0I(&<32]) DIE22HSIIAY
350,000,000 360,000
HEXS DJIBEAIE KIZAMS (R EHALY) 1,622,222 400,000 1,222,222
== 1,460,000
[Ea 162,222
401 Al HIZL S 0HYI 1,622,222 400,000 1,222,222
< 1,460,000
s 162,222
01 Al&H| 1,622,222 400,000 1,222,222
Ot=sHE T2 HEAE
1,622,222,000& 1,622,222
= 1,460,000
Ea 162,222
AAI01 (& 422]) DISRHSIIAIY (R EHALY) 50,000 50,000
401 Al HIZ R 0HbI 50,000 50,000




2ENL
2EH
TEIHED (B S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o1 Alt 50,000 0 50,000
O&A0I(&412]) DHSRISDI AT (R ML)
50,000,000 50,000
SHE(BHIB2)) OIS SrSIIAI (HEALY) 50,000 50,000
401 A& Bl L= Ch| 50,000 50,000
o1 Alt 50,000 50,000
Ol (#HIIRI) DHSBHSDI A (R EME)
50,000, 0002 50,000
SHA(SS12]) DISOrSIIA (M EHALY) 50,000 50,000
401 AIEHI LS TH| 50,000 50,000
o1 Alt 50,000 50,000
OBHA(ZS12]) DH2RHS DA (R EHAY)
50,000,000 50,000
FoHR| Het 11,420,833 9,769,9% 1,650,838
= 272,000
2 11,148,838
A2 BEOHSD| 11,420,833 9,769,9% 1,650,838
= 272,000
2 11,148,838
ARSI (XHH) 3,463,833 4,245,1% AT81,362
201 2er2e| 2,028 2,028 0
01 AR 22l 1,260 1,260 0
OgsaAE S 1,000,002 1,000
OSSN AT 7
260,000 260
2 ZZ2H) 768 768 0
OBISEE Y KRB0 768, 0002 768
202 048] 3,500 3,500
ETET 3,500 3,500
OARBAILALET OfH|
3,500,002 3,500
305 BHA2S 3,000 3,000
of tha2S 3,000 3,000
OLRBAIL a2 3,000,0002! 3,000
401 AIEHI LS TH| 3,384,392 4,133,046 A748,654
o1 Al&t 3,370,000 4,115,000 AT45,000
OARDFRILEAY 1,080,000
~S AE32) B2 FHI(L=100m)
20,000,0002! 20,000
-S4 AIE52| 0HS2H I HI(L=170m)
40,000,002 40,000
-8 Z#22) Y42 FHI(L=140n)
25,000,000 25,000
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Rl AJIE2 sEUSDI

SA - BB - S(3H) - MRAY - BES Ol &b ot A

—S4 stee| S2HA U 22X (L=110n
) 35,000,000 35,000
—22 L&) 423l 2 =4 (L=145m)

30,000,000 30,000
o9 W20 S2IX U Hi42FH|(L=200m
) 30,000,0002 30,000
-29 AEE| 52T E(L=200n)

35,000,000 35,000
22 A212] 42 2 S2EH|(L=300m)

25,000,000 25,000
-40l EZ 12| Hi2=2F1|(L=80m)

25,000,0002! 25,000
-A0| 2&22| 22X 1| (L=300m)

35,000,000 35,000
-A0| 2éHE S22 R(L=140m)

30,000,000 30,000
-A0| 20/32] B2 =1 (L=100m)

30,000,000 30,000
-2 B=12| 22X 1| (L=80m)

40,000,000 40,000
-2 B=22| 2 H|(L=80n)

40,000,000 40,000
—24 =232| <2 =] (L=200m)

40,000,0002 40,000
~ME 2802 S AH|(L=130m)

20,000,000 20,000
-WE 22l 42 ¥ S2AH|(A=100m")

40,000,000 40,000
~ME S=22| Hi22FH|(L=30m)

30,000,000 30,000
~ME AS12| 0FS0H E Y| (L=60m)

30,000,000 30,000
~ThA A5 12| OFARHM 2D (A=1,600m)

55,000,000 55,000
-OhA DI=12] B2 =] (L=120m)

30,000,000 30,000
~A A=232] OFAZR M 2I((A=1,000m)

35,000,000 35,000
—-Ab H=E22| Hi4=2 & HI(L=200m)

45,000,000 45,000
~A A E2e] S 2 A (L=250m)

45,000,0002! 45,000
~&A SE52| s2AH|(L=70m)

30,000,000 30,000
—M2 XE22| OFA RSN 2I((L=800m)

48,000,000 48,000
~M3 AI2RR| OFRI2S |7 HIDIRIAXI(L=10
m) 15,000,0002 15,000
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Eas=pl=mi}

B Forn) e
Rl AJIE2 sEUSDI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-4= 422| <=2 FHI(L=150m)
57,000,000& 57,000
2= At=12l OS2 8l & HEEE (L=
70m) 20,000,000& 20,000
-3 232l s2EF(L=70m)
17,000,000 17,000
-2=2 2&12l =2 =4I(L=16m)
16,000,000 16,000
-2 283e| OtA2IAI[(L=160m)
28,000,000 28,000
-Z4= 2&32l =2 FHI(L=76m)
39,000,000 39,000
OAAZAIE HSAE & DEUAAMNY 140,000
-g Fetel orEer2EHI(L=110m)
80,000,000 80,000
-t D1=22| OS2 S (L=60m)
60,000,000 60,000
OAAZAIE RXE=4|
2,000,000,000& 2,000,000
O2n2AE = & EHESHI
150,000,000 150,000
03 Al 20HHI 14,392 18,046 A3,654
OF2U=HAIY =& 20
1,220,000, 000& +0.36% 4,392
OA+2 SSAE otd 2| FHISA=
10,000,000 10,000
402 2IZtA=01d 70,913 103,621 N32,708
01 QI XHZ AL E (KM THE) 70,913 103,621 A32,708
Os& AtEel OS82 23At
19,800,000& 19,800
OR’Y =212l Otssl2 23 At
19,800,000& 19,800
O&dY 2&12l Ot=sl2 B3 At
17,820,000& 17,820
Od= ZH22| OISsl2 23 At
13,493,000& 13,493
MEEBAIE HEAL(EX) 272,000 0 272,000
< 272,000
401 AlEHIZ S 0HbI 272,000 0 272,000
=S 272,000
01 Al&H| 272,000 0 272,000
Osg i1l s=2ZEHAY
40,000,000& 40,000
= 40,000
OA0l HltHe| s2EHALY
22,000,000& 22,000
= 22,000
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MR FOHX| Jf
&2l AJ|IEE sEUSDI (SH &)
= - q L=
SA - B - G9I(30) - NIRAY - BES Ofl b A SimE==t
OlA 212l 22 HHIAY
50,000,0002! 50,000
= 50,000
O&td HE22| 0120t JUlALY
40,000,0002! 40,000
= 40,000
OMI20 9=p| 2 HHIAY
50,000,0002! 50,000
= 50,000
OM2 212132] DISAE TAAMY
20,000,0002 20,000
= 20,000
OZL= 2Xe| 42 MEIZA
50,000,0002 50,000
[ 50,000
AWE OHE R 35,000 35,000
401 AISHIZSTHY] 35,000 35,000
01 Al&HI 35,000 35,000
OADE HHEY 28 35,000,000 35,000
AN #=5 SHRSI|(ARR OISS2AIY) 7,650,000 7,650,000
401 AIZHIZ=2HY] 6,694,000 6,694,000
01 Al&ZHI 6,694,000 6,694,000
OS4 24132] OtAR M 2D|(L=520m)
50,000,0002! 50,000
OSH 24132] A B 2H(1=50m)
30,000,000 30,000
O34 suil2el M&adEHl ¥ sZ2ZE(L=115mn)
55,000,0002 55,000
OS4 Slidel Z2Y DL EE(A=150m)
10,000,0002 10,000
084 362l OtAR M| (A=850m")
40,000,0002 40,000
O24 =&22| 022 HH|(A=700m",1=50m)
30,000,000 30,000
OS4 x&22| FXE ZH(14])
50,000,0002! 50,000
OS4 =52 DISTYR EE(AH80m)
20,000,000 20,000
Os4 Z=02| th4=2 =HI(L=560m)
85,000,0002! 85,000
OS4 62| OtAE IAMRD|(A=1,400m")
35,000,000 35,000
OS4 2462 2L 2 TR (AB0M)
35,000,000 35,000
OS4 Al&52| DF20F2 FHI(L=220m)
50,000,0002 50,000
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HE: FHOR| H

Sl AD|ES =ECHSD|

SA - BB - S(3H) - MRAY - BES Ol &b ot A
O84d AlFsE| o207 AXI(14)
20,000,000& 20,000
O84 4HE| OFAR ML (A=2,100m")
65,000,000& 65,000
Os4 4Hel i2=2 Fd|(L=130m)
25,000,000 25,000
O84d AlM2e| ME S HEHI(L=50m)
25,000,000& 25,000
O84 A&22] OFAR SML2I|(A=1,700m")
45,000,000 45,000
O8S4 222 oles)|+ 44X & 2&8H
HIZAH(1AL) 50,000,000& 50,000
O84d 222l o=t Ad|(A=630m,L=75m)
40,000,000& 40,000
O84 s822] 0tseH2 AHI(L=300m)
55,000,000& 55,000
Os4 s822] o207 EX1(14)
25,000,000 25,000
OS84d AM2e| S22 EH(L=560m)
100,000,000 100,000
OSd =312l s2 L EH(L=600m)
100,000, 000& 100,000
Os4d suUi1el orel2sI|2 diotaer AxI(
141 30,000,000& 30,000
Os4d giiel usSAZY 0tg EEH(A=80m")
5,000,000& 5,000
Os4 AFE22| JIEYY A XI(1L=200m)
20,000,000& 20,000
OS4H AHE22| OIS OFA R SM 2D (A2
,650m") 80,000,000& 80,000
O848 A022] OFAR SN (A=1,620m")
62,000,000& 62,000
O=2g 212l A=A X (L=100m)
60,000,000& 60,000
OZ2g 2212 &gXd(14)
30,000,000& 30,000
O=g 2022l 0S8 s (14)
20,000,000& 20,000
O2g vEe| olkesJ+ € "ioiEAxi(d
Al) 35,000,000& 35,000
OZ2< A=12] 0FI2s0|2? HIDIEEXI (1A
) 20,000,000 20,000
O=g gifiel 0S92 HIZEH(L=1,200m)
100,000,000 100,000
O22 M2l =2 Ad|(L=200m)
50,000,000& 50,000
O=2 A=22e| ti2=2 &H|(L=200m)
30,000,000& 30,000
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Eas=pl=mi}

B Forn) e
o°e: AD|IE2 sERSD| (S &S
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O2g M=212] s2ZEE Y =2 4| (L.=250m
) 40,000,000& 40,000
O2g 2=12] =2 Hd|(L=250m)
40,000,000 40,000
O2< 22| 0tSeH &L & (L=150m)
50,000,000& 50,000
O 2428 OtAZ2 M2 (L=120m)
30,000,000 30,000
O=< aiM3e] =2 S EH(L=100m)
20,000,000 20,000
OZ2< 12| 0IS8YZ ST E(L=100m)
100,000, 000& 100,000
O=2g 2222 ol2s2|7 4XI(14)
15,000,000 15,000
O2g 2212 o2sJ|17 &x1(14)
40,000,000& 40,000
OA0| 24HE| OFA2EM 2| (L=1,675m)
100,000, 000& 100,000
OA0] 2422 OtAE M 2D1(L=750m)
60,000,000& 60,000
OA0| =12l OFA2SI17 EXI(6MA)
18,000,000& 18,000
OA0!1 dI4H2l & &dI(L=100m)
100,000, 000& 100,000
OA0 522 =2 2 A& ZH|(L=340m)
100,000,000 100,000
OA01 =32 =2 &H|(L=100m)
75,000,000& 75,000
OA0] Z0I32I B2 Hd|(L=250m)
100,000, 000& 100,000
OA0| Hlar2e| atx=2t2 THA X (L=50m)
75,000,000& 75,000
OZA0[ HlA22] OtAR SAM 2D (L=420m)
25,000,000& 25,000
Ode 2332l ME HdI(L=120m)
100,000, 000& 100,000
Ody BE222| A& H8I(L=80m)
100,000,000 100,000
Oy 0ts12] 0FsSeH A | (L=330m)
42,000,000& 42,000
O"Y Ots22] Orsere otAR SAM22D|(L=6
00m) 50,000,000& 50,000
OdY otc22] Oser otAR SM | (L=1
,200m) 100,000,000 100,000
Odd =212l s2ZE(L=170m)
40,000,000& 40,000
Ogld =12 IISEEZTE(200A)
60,000,000& 60,000
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S BENZD
Ma: FoHK| e
o9l AD|ES SEES)

S A - BRI - HRA - BES of e A
Ofg a312l =2 bI(L=530m)
40,000,000& 40,000
Oyyg &322 JYE2 L F(L=400m)
50,000,000 50,000
Ogy =322l === FHI(L=380m)
40,000,000 40,000
O8d £&32 NM&E FHI(L=220m)
80,000,000& 80,000
Oyg &goel otA2 RXN<I1(L=1,000m)
70,000,000& 70,000
Odg ot&1el OtAZE RN <I(L=530m)
35,000,000 35,000
Ofg otg2e] orle2sd+ &XI(14)
30,000,000& 30,000
OUE S&22| 0IIRS)IT L I &
XI(BH2) 25,000,000 25,000
OUs E&E22| AFHFHI(A=100m")
30,000,000 30,000
OUE ZXtel 0tSerd OtAZ ZH(A=100m)
15,000,000 15,000
OYs 22l ti=+= Zdl(A=280m)
85,000,000 85,000
Ous HFiel =el&dd Hiotze ZX1(1H
a) 10,000,000 10,000
OUE HF12l AFHFHI (A5
20,000,000& 20,000
OUS Orit1el Orset2 OFAE IMRI|(A-1
,500m") 40,000,000 40,000
OUWs 0tatel th===2 FdI(L=25m)
12,000,000 12,000
OYs =ael 0l2S)I? ¥ Hotet o
XI(100H ) 50,000,000& 50,000
OYs 232 4ot Zx1(242)
20,000,000 20,000
OUs 21222 OtAZILE(A-8,000m")
100,000,000 100,000
OliA &F4e] Folde =d(14a)
100,000,000 100,000
OliA &4532| oFsetd OtAZ NI (A
,260m") 38,000,000& 38,000
O LiaHe| orl2SI17(14])
10,000,000 10,000
Olix 2F12] orI2s217 ZXI(14)
40,000,000& 40,000
Ol 2R22| =2 E&(L=180m)
40,000,000 40,000
Olia 2F22| 02t OtA2RINRI| (A2,
000m") 60,000,000 60,000
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SN RN
Ma: FoHK| e
o9l AD|ES SEES)

S - B - SRA(SIH) - HSAY - BYS of et o

OtiA tHE12l ti==2 &8I(L=200m)

85,000,000& 85,000
OUia =22l A& ZHI(L=100m)

100,000,000 100,000
O&td ARl =2 Z(L=80m)

15,000,000 15,000
O&td tHArR] H2FA X (L=150m)

25,000,000& 25,000
Odd d&1el =2 &HI(L=100m)

50,000,000 50,000
O&td &342| == EHI(L=200m)

40,000,000 40,000
O&td #Z12l ==2FI(L=750m)

80,000,000& 80,000
Odd 2ii1el orI23J17 wMl L FIH1

Al) 30,000,000 30,000

O&td tHokel OtAZE M =2D(L=1,500m)

100,000,000& 100,000
Oatd g9zsel dexd(14)

60,000,000& 60,000
Odd 2422 =2 % === (L=200m)

100,000,000 100,000
OMS #2142 OIS (A=1,590 ,L=140n)

100,000,000 100,000
O3 2d1el e AXI(1HL)

100,000,000& 100,000
O4= 2g2e| OtA2 MR (A750m)

22,000,000 22,000
Od= 2422l Sti===22 FHI(L=330m)

66,000,000 66,000
OM= 2432 RES=J(1HA)

100,000,000& 100,000
OM= =2 o023 dI(L=350m)

100,000,000 100,000
OM3 Algke| MYE= LE(L=240m)

48,000,000 48,000
O3 222 2222 L HHELE(1HA)

100,000, 000& 100,000
Od= =12 0rSE I (L=250m)

90,000,000 90,000
Od= M3e| A3 EE 2L (1)

64,000,000 64,000
OM3 Al3e| OtAZ X LI](A-500m")

36,000,000 36,000
OM= 2rd4el =2 ZI(L=70m)

60,000,000 60,000
OM= Mie| oS24 (L=45m)

35,000,000 35,000
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2A:

S FHOX N
ool ADIER SEOS)) CER-E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OZ=x AR22| OtAZE = FH(1L.=300m)
50,000,000 50,000
OB a2l DE JI2AS BF(14)
90,000,000& 90,000
OZ= =&12| =2 HB8I(L=80m)
30,000,000 30,000
o= A32| Or20ots=2 JdI(1=480m)
100,000, 000& 100,000
OZ= &212| otAZ AMR2I((1=900m)
65,000, 0002! 65,000
OZ= 2832 =2 HBI(L=240m)
36,000,000 36,000
OZ= ArR32l =2 &dl(L=300m)
90,000,000 90,000
o= amee| ti=2 &dl(L=291m)
70,000,000& 70,000
OZ2 ctEzel OtAZ2 HA<2I1(L=1,200m)
100,000,000& 100,000
OZ=x 28k6e| otAE AMR2I((L=130m)
30,000,000 30,000
OZ= 2862 == ZF(L=100m)
25,000,000& 25,000
OLAZAIE 22 2 dHE9|
300,000,000& 300,000
402 QI2ERH=0I N 956,000 956,000
01 QIZEXH2 A 2 (RERITH ) 956,000 956,000
O34 @=x12| 0232 B+3At
35,000,000 35,000
O34 sui22l oisal& B43Al
10,000,000& 10,000
OS4 W23 01232 FABAl
35,000,000 35,000
O34 4022 o232 2l2ed
25,000,000 25,000
OZ2g Uis1el oiSsl2 B3 At
21,000,000& 21,000
O=2g 2312l oI2g& B4+3At
40,000,000& 40,000
O3% 2342 nl2s@ 212wy
100,000,000 100,000
O23 Azl Di2g 2|22
22,000,000& 22,000
O=2g SiHe| isg2 2|l2ed
100,000,000& 100,000
032 AR Oi2sE 2ee
20,000,000 20,000
OA0] HIAR2| 0232 2l2dd
25,000,000& 25,000
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2A:

Eas=pl=mi}

B Forn) e
&t AIEE sEUSDI EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OA0| 212l 0232 HUISBAH
75,000,000 75,000
OA0] 2122 0tSa& HHI2AH
54,000,000& 54,000
Odd 2212l DS S52AM
100,000,000& 100,000
O3g ot1el U= OlsaldlH s =4
100,000,000& 100,000
O'd 2eHel DiSa& B42A
22,000,000& 22,000
O HE12| OIS B42A
20,000,000& 20,000
OM= ZM2e| 0232 HUISAH
12,000,000& 12,000
OM= xtmoel DSl el2dal
100,000,000& 100,000
o= 28e| D232 B43A
20,000,000& 20,000
o= 2832l 0232 BE4+3A
20,000,000 20,000
=Pl Il 9,938,769 8,921,369 1,017,400
= 1,448,600
= 500,000
& 2,383,800
= 5,606,369
sAIBAIE &= 9,938,769 8,921,369 1,017,400
= 1,448,600
S 500,000
T 2,383,800
[ 5,606,369
S CHH| 1Y 173,200 142,800 30,400
= 138,600
& 17,300
= 17,300
401 A& B2 20HY| 173,200 142,800 30,400
= 138,600
T 17,300
= 17,300
01 Al&HI 173,200 142,800 30,400
Ot HdI E=IHE AL 173,200,000& 173,200
= 138,600
= 17,300
= 17,300
S2IBAIE 2Y 62,569 143,389 280,820
201 LB-2AY| 27,360 26,860 500




SA SN2
B S0i)|BIEs
Cel: SHIIBAIE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 16,000 16,000 0
O=SME =2 U S)|aaz
5,000,000& 5,000
OPABY+T @I|HED2| HBE(5102)
150,000 *62] 900
O=Stis=Hod MIetd2el W™ (1~12
g) 200,000& x 122 2,400
OD-Das B2 RAIL2==H] 7,700,000& 7,700
02 S3=gl 11,360 10,860 500
O +=&HI3H| 3,000,000& 3,000
Oti=8Z% 3223 (&I & W)
2,500,0002 2,500
OB 201240/ Al AL
2,500,002 2,500
OB40t & OHYT R
70,0003 #4874 A 3,360
202 04| 7,680 5,000 2,680
01 2LHA b 7,680 5,000 2,680
Osgolgt g2 06| 7,680,000 7,680
305 ia =S 6,529 6,529
01 that=S 6,529 6,529
Od=X=X &= 6,529,000 6,529
401 AlEHIZ 2018 21,000 70,000 249,000
01 Al&H| 21,000 70,000 249,000
OJtsE sXlZels8d 20,000,000& 20,000
OsgALDIENE Bd=
1,000,000& 1,000
SEADBHEEIALY 617,000 1,144,500 527,500
401 Al HIZL S 0HYI 565,000 1,042,000 A477,000
01 Al&HI 565,000 1,042,000 A477,000
O3 S4tel Bi=2 ZHIAE (L=700m)
100,000,000 100,000
O¥g otc1el Bi==Z ZHIAZ (L=300m)
60,000,000 60,000
Odg ot sZ22E & =2 FHIA
(L=290m) 60,000,000 60,000
OYs AF32l == HHIAI (L=200m)
100,000,000 100,000
Odtd Sii2el Bi==Z ZHIAr (L=245m)
115,000,000 115,000
Oz - 12l =2 FHIArY (L=180m)
30,000,000 30,000
OZ= 232l ti=ZFHIAt (L=%5m)
100,000,000 100,000
403 AXIEHMSAH=0IE 52,000 102,500 /50,500
02 SISOt =2 A P E A I 52,000 102,500 50,500
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SA SN2
B S0i)|BIEs
Cel: SHIIBAIE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3 AEZXEel =2 2a=AH (L=250m)
52,000,000& 52,000
Fe|AlE IHE AL (HEALY) 800,000 400,000 400,000
S 720,000
o 80,000
401 Al HIZ S 0HHI 800,000 400,000 400,000
== 720,000
o 80,000
01 Al&HI 800,000 400,000 400,000
=2lAlE JHE ALY 800,000,000 800,000
< 720,000
s 80,000
AT HFELXFH2IAS (HEALY) 1,293,000 70,000 1,223,000
= 1,163,500
Ea 129,500
401 AIEHIX 20 1,293,000 70,000 1,223,000
=S 1,163,500
s 129,500
01 AlZ28| 1,293,000 70,000 1,223,000
O2 g7 Hr=F X EelAr
1,293,000,000& 1,293,000
< 1,163,500
= 129,500
KES SBAML(MSAIY) 1,205,000 1,487,000 282,000
401 Al HIZ S 0HbI 1,205,000 1,487,000 282,000
01 Al&H| 1,205,000 1,487,000 282,000
OXE+=2ZHL (S S=2l(L=500m))
150,000,000 150,000
OXIE==22MHE (0] CHE2I(L=130m))
35,000,000 35,000
OXIES22 ML (20! CHEZI(L=640m))
150,000,000 150,000
ORI HES22H (401 20/2l)
150,000,000 150,000
OXIE==22ME (A 24021(L=1,400m) )
400,000,000 400,000
OXE+=22He (&4 842l(L=1,330m))
220,000,000 220,000
OXE=2JHL (L= Fgel)
100,000,000 100,000
JtSUiHl sgE+IIEAIZ E A 300,000 100,000 200,000
< 90,000
[Ea 210,000
401 Al HIZL S 0HYI 300,000 100,000 200,000
& 90,000




SA SN2
B S0i)|BIEs
Bel: SYIIBAIL &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 210,000
01 Al&H| 300,000 100,000 200,000
OJIS0HY S8 JIBAIA Bl
300,000,000 300,000
== 90,000
[Ea 210,000
sI18tEHl |AEAS 565,000 741,680 186,680
401 Al HIZL 01| 565,000 741,680 186,680
01 Al&H| 455,000 640,680 /185,680
OsHALI|BAIE FAI24=H]
400,000,000 400,000
OsYdLIBHEHIAE =X
35,000,000& 35,000
OAxlg HNHHES 20,000,000& 20,000
03 Al 20HHI 100,000 101,000 21,000
OsHALDIEAIE S| AIE2HHI
100,000,000 100,000
SE MHolRIEM=XIE8IALE 430,000 200,000 230,000
= 215,000
= 64,500
= 150,500
401 AlEHIZ 201 430,000 200,000 230,000
= 215,000
= 64,500
2 150,500
01 A&t 430,000 200,000 230,000
OHZ THAHIB =X FHIAe!
430,000,000& 430,000
= 215,000
[ 64,500
Ea 150,500
KLU THoH RIS M ==X EHIAHS 890,000 200,000 690,000
= 445,000
< 133,500
[Ea 311,500
401 Al HIZL S 0HYI 890,000 200,000 690,000
= 445,000
=S 133,500
s 311,500
01 AlZ8| 890,000 200,000 690,000
OXI2U Mol M==XI SHIAS
890,000,000 890,000
= 445,000
=S 133,500
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2A:
X XH -
o e

=aak

x
=
x 0
Jor
O

- SRAE) - HIRAY -

By

ol &rey

MEE
Ofl &k2h

H

311,500

500,000
500,000

500,000

401 AIEHIYL 20

500,000
500,000

500,000

01 A&l

OX01H 32l 2ug ZHISA

Jm

500,000

500,000
500,000

500,000

EX T AN R (ASIIS) &

HoH W

400,000
200,000

60,000
140,000

400,000

401 Al HIZL S 0HYI

MW

400,000
200,000

60,000
140,000

400,000

01 AlZHI
024 HHAEMEX R (ASIIS)
(o5

=

ZHIAH
400,000,000&

Mo W

400,000

400,000
200,000

60,000
140,000

400,000

Tt Mol AZ M=Kl EHIAL

MW

400,000
200,000

60,000
140,000

400,000

401 AIZHIZ 20

Mo W

400,000
200,000

60,000
140,000

400,000

01 Al&HI
O=cte Mol g Ma=Al A

400,000,000

Mo W

400,000

400,000
200,000

60,000
140,000

400,000

Y THoll A M=Kl EHIA

Mo

500,000
250,000

75,000
175,000

500,000

401 AIZHIZ 20

Mo

500,000
250,000
75,000

500,000

N




A DSt
M =Yy
ol SQII|UAI BHE (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
i 175,000
01 AlEHI 500,000 500,000
O Y Mol M=K ZHIALS
500,000,000& 500,000
= 250,000
& 75,000
i 175,000
AMUZE #=E SHUSI(sI18HEHI) 1,813,000 1,813,000
401 Al&HIZ 20| 1,813,000 1,813,000
01 AlEHI 1,813,000 1,813,000
o2 =322| =2 FBI(L=300m)
60,000,000& 60,000
03¢ W22 A& Zdl(L=100m)
50,000,000 50,000
O=2g &322l =2 2 == &dl(L=50m)
30,000,000& 30,000
O4a0 5512l & - =2 JU|(L=180m)
52,000,000& 52,000
O20] 2122 OtAZ AMRI|(A=1,200m")
26,000,000 26,000
o201 21212 8 - i+2 ¥ s2FH[(L=200m)
100,000,000& 100,000
O3y otg22| orAZ M LI((L=500m)
50,000,000& 50,000
OYEs olx12| 0r20t2d OtAE NI (A4
,000m") 100,000, 000& 100,000
OUWsS #AH2el 020 OtAE HMRI| (A2
,900m") 60,000,000& 60,000
OUE #HH2el 02t otAE IMNRI|(A4
oom’) 20,000,000& 20,000
OUs Otae| 232E ZF & =2 &
Bl (A=150m") 20,000,000 20,000
OWs Orak22] =2 HBI(L=190m)
80,000,000& 80,000
Otia =232 =2 HBI(L=250m)
100,000,000& 100,000
Ola d=42| =2 &ul(L=325m)
100,000, 000& 100,000
OHa #=Ef2e| ot S & (L=270m)
100,000,000& 100,000
Ol &&E1el ==X E(L=800m)
100,000,000& 100,000
O« 0112l =2 &dl(L=140m)
70,000,000 70,000
OO LH&HMZ] B2 HBI(L=266m)
90,000,000& 90,000
Olix =12l =2 Fl(L=212m)
50,000,000& 50,000
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SA SN2
B S0i)|BIEs
Cel: SHIIBAIE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&td thE2el S22 &H(L=250m)
35,000,000& 35,000
O&d tiE2el otAZ RAN<I1(L=100m)
10,000,000 10,000
Otte JF 12| S2EH(L=-400m)
50,000,000 50,000
Od&td =&3e| oA XM <I((L=600m)
70,000,000& 70,000
Odtd 8322| 022 IXN<I1(L=1,300m)
100,000,000 100,000
Od=z HA3e| =2 S (L=285m)
80,000,000 80,000
Oz=x F&1el otA=2 IN=2I(L=890m)
70,000,000& 70,000
Oz=x 212l 24+2 F4I(L=135m)
100,000,000& 100,000
OZ= 28562l =2 F4I(L=80m)
40,000,000 40,000
HH2LZH(FEMHL D) 45,770 44,270 1,500
Jl23HI(Z L) 45,770 44,270 1,500
JI=23Hl 45,770 44,270 1,500
201 etz 3| 28,670 28,670 0
01 AtR2te|HI 26,958 26,958 0
Oget=ZH] 6,655,000 6,655
O=gHt| 5,840,000 5,840
OSAPI Xtz 330,000 *1CH* 12 3,960
O8=J| itz 51,9002+ 128 623
Oddg&H 42F F#4| 9,880
-2 Zeld 7,920
£ 7,040,000 7,040
== 880,000 880
-2gtzely 1,600,000& 1,600
—+AX 360,000& 360
2 S5=2g4l 1,712 1,712 0
Ol FAZ2==H| 1,712
-CHISARI1I 1,300,000 *20CH*5% 1,300
-Zelf 4,000,000 *5CH*2% 400
—+AX 600, 0002 *1CH*2% 12
202 04| 4,800 4,800
01 =LHO LI 4,800 4,800
Oogdd= 24 0y
2,400,000 2,400
Od&gi&lt R4 0]
2,400,000& 2,400
203 =8| 10,800 10,800 0
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SA oEE
M HYRAZH(ZEMLL)
CHel: J|=2dI(ZENg ) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 J|2=2gdR=aH] 7,200 7,200 0
OoZged=g 600,000& * 122 7,200
MU A2 LRFAI 3,600 3,600 0
ORANEgg =AY 300,000 x 122 3,600
405 AtaHE = 1,500 1,500
01 T ESFISHI 1,500 1,500
OARd =23 78 1,500
-LES 2 1,500,000 «1CH 1,500
Hees(DEHLM) 1,236,629 1,200,036 36,593
LI HHKIE 1,236,629 1,200,000 36,629
oL HELEI N HES 1,236,629 1,200,000 36,629
701 JIEtI HSHES 1,236,629 1,200,000 36,629
01 JIEtI AN ES 1,236,629 1,200,000 36,629
ODELHSEIH H&E=S
1,236,629,000& 1,236,629
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